
 

 
 

Num 5 

  

               
       

OUI NON 
 

 

                        

 
5,7 

 

 
 
 

OUI 
Un zéro donc on décale 
d’un cran. 

 
0,57 

 
 

NON 

                            

 
3,52 

OUI 
2 zéros donc on décale de 
2 crans. 

 
35,2 

 

 

NON  

 

 
0,23 

NON 

 
2,3 

 

OUI  
Un zéro donc on décale 
d’un cran. 

 

 
4,57 

 

NON 

 
45,7 

OUI  
Un zéro donc on décale 

d’un cran. 

 

 
3 

NON 
 

 
0,3 

OUI  
 3   c’est 0,3 car un  
10  zéro on décale 
d’un cran. 

 

Carte à choix : décimaux 
La fraction correspond-elle à 

l’écriture proposée ? 
 

 

 

 

57 
10 

352 
100 

23 
10 

 

457 
10 


